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. CHOOSE THE CORRECT ANSWER: 5x1=5M

1. Which of the following is an example of humay, resources?

a) Forest b) Latest Technologies ¢) People d) Animals and Birds

2. The resources which can be used directly without any modification are called

a) Non-renewable resources  b) Natural resourceg ¢) Sustainable resources
d) Both B&C

3. “A History of British Indig” was written by

a) Nicholas 1.ouis ° b)CliveLoyd  c) James Mill d) John Henry

4, came up in the 1920s to store important documents.

a) Victoria Memorial * b) Parliamentary House ¢) Settlements

d) National Achieve of India

5. The elected Fepresentatives in India are part of

a) Legislature * b) Executive ¢) Judiciary d) Cabinet

(1. FILL IN THE BLANKS: 8x1=8M

1. Warren Hastings was the

2.

Governor General of India.
is finding out how things were in the past and how things have changed.

3. A substance becomes a resource if it has

4. Using resources carefully and giving them time to get renewed is called

5. Coal and Petroleum are example of resources.
6. Right to Move freely falls under

7. The Indian Constitution was drafted by

8

. The existence of more than one level of government in any country is called _
I. Answer the following questions 4x3=12M
1. Why are Human resources Important?
2. How will the information historians get from old newspapers be different
from that found in police reports?
3. Why did the British preserve official documents?
4. What are the Fundamental Rights?
II. Answer the following questions 3X5=15M
5. Mention the principles of Sustainable development.
6. Describe the Power sharing Organ of the Government.
7. What is the problem with the periodization of Indian History that James Mill
offers?

KXXXX




Bli"éw&!‘b”;
Mgl R
S ] O WA {'igf;(v‘ ,;.a?’f,; ‘(,’
S Terhoical EdUgatOn) T
L e

SFAr N - s 2 JUL Wik
PERIODIC TEST~ ) o L\Il\f{oj“

. z

SUBJECT: ENGLISH LANGU Te TURE
CLASS: VIII TIME: 1'/,Hr
DATE: 11.07.2024 MARKS: 40

General Instructions:

. , [ Sectig .
(D) The Question Paper contains THREE s ~ Readmg, Grammar & Writing and
Literature, .
s pstruc
(2) Attempt questions based on specific 11° tions for each part,

ECTION - AREADING g1,

I Read the passage given below:

. edl W .
There are two problems which cause glef 0ITy to our educationists—the problem of
religious and moral instruction in a land 0f Many fajpp .- o the problem arising out of a
large variety of languages.

Taking up the education of children we S€e that they should be trained to love one
another, to be kind and helpful to all, to be tender tg (e lower animals and to observe and
think right. The task of teaching them how 10 read ang Write and to count and calculate is
important, but it should not make us lose sight of the primary aim of moulding
personality in the right way.

For this, it is necessary to call into aid, culture, tradition and religion. But in our country
we have, in the same school, to look after boys and girls bom in different faiths and
belonging to families that live diverse ways of life and follow different forms of worship
associated with different denominations of religion. It will not do to tread the easy path of
evading the difficulty by attending solely to physical culture and intellectual education.
We have to evolve a suitable technique and method for serving the spiritual needs of
school children professing different faiths, We should thereby promote an atmosphere of
mutual respect, a fuller understanding and helpful co-operation among the different
communities in our society. Again we must remain one people and we have therefore to
give basic training in our schools to speak and understand more languages than one and
to appreciate and respect the different religions prevailing in India. It is not right for us in
India to be dissuaded from this by considerations as to overtaking the young mind. What
is necessary must be done. And it i not in the fact too great a burden.

Answer the following questions, baseq on the passage above.

(1) What are the two main concerng faced by educationists? (2Marks)
(2) Complete the sentence:

The passage suggest that besideg teaChing gcademic skills, schools should focyg on
(IMark)



cormect Optiop: W . . :
Vhay is the primery aim of education according 1o

R} Cheose the
] (1Mark)

passage’ L
. physical .
(@) Promoting ¥ hy fitness

N Tcnchim‘- mult.iple ];mguageS
(©) Moulding .P"m“al“}' in the g
(d)Fostering uﬂenit;laj Competi;ion vay
(4)What are some challengeg faceq by schools in a culturally diverse environment

acconding 1€ the passage? (IMark)
(3)How Joes the p:mag:e Suggest resolving the challenges of diverse religious and

linguistic L“Ckg[.\mfi In education ) (2Marks)
(6)Give 2 suitable title for the Passage. (1Mark)

GRAMM AR ($Marks)
I1 The following passage has not been edited. There is one error in each line.
Identify the error and write it along wig the correction. (3x1=3)

Error Correction

About the year 1900, a small, dark haireg hoy

name Charles Chaplin was often seen @
waiting outside the black entrance )

of London theatres. He looked thin and

hungry but his blue eyes was determined. ©

[I1 Join using relative pronouns. Gas3)

(1) Tensing and Hillary climbed Mount Everest. Mount Everest is 27,000 feet high.
(2) The meg is & writer. We met him at the theatre yesterday.
(3) The policeman received an award for excellent service. He is a friend of mine.

IV Fill in with correct form of the verb given in brackets. (4x'/=2)
Seema, my classmate is (a) (celebrate) her birthday tomorrow. I (b) (want)
to gift her a science puzzle but (¢) (not know) where to buy it from. I (d)

(will/shall) ask my father in the evening when he returns home from work.

CREATIVE WRITING SKILLS (SMarks)

V. You attended a birthday party hosted by vour best friend. Write a diary enuy

describing the events.

SECTION = C LITERATURE (19Marks)

VL Read the following extracts and ansver the questions given below: (3x1=3M)

Assilly young cricket, accustomed t0 sing
Through the warm sunny months of 8Y 5% 1mer and spring
Began to complain when he found that. & HORRE,
His cupboard was empty, and winter was Fj)kme. .
(1) What are the two qualities of the cricket described here?

(2)How | i !
2)How is the weather in the poem:



“ tomcd lo”
(3)Choose the correct answer: Accu’ Mcang

(a) Happy ©Useq g '
(b) Unhappy (d) Irritateq
. we
VII Read and the questions given bel® (3x1=3M)

He had walked for most of the first ¢ d the .
Chennai. Velu had no money for @ ticket DUt lucily i lr:c%((:t f;gﬁzztgf lc?ic;ﬁ’t
come to the unreserved compartmen® laye "d to sleep on the floor near the
door. A group of men next 0 pim had P'8Y®d Cards gn g o oo 211 night

“Ajy! What, new to town eh?” called 0t @ TOUgh voie, :

Velu opened his eyes. There wer¢® lot 0 PEOPle standing around, but nobody was

looking at him. 4 him
“Here! Aiy!” He tumed around: Behind MM Was a gir] around his own age wearing

a long banian that came down to her knees. Her hair wag stiff and brownish and

she had a huge sack on one shoulder.
She was picking up dirty plastic cups from the floor and stuffing them into her

sack. Why is she calling me, thought Velu- And why is a girl wearing a banian?

“No need to stare stupidly- What's your name?”
“Velu,” muttered Velu, looking away.
«§o Mr Velu,” said the girl, looking at his bunde.

“Run away from home?”

(1) Why did Velu resort to sleeping on the floor near the door of the train?
(2) What did the strange girl ask Velu when she saw him?

(3)From the passage, find a homonym for the word stair’.

VIII Answer the following questions: (3x3=9M)

(1)Jim talks about an incident that had just happened at the front on the eve of

Christmas. What was it?
(2) What is it that people believed about anima
(3)How did the Camel get a hump?

Is concerning natural disasters?
IX Answer any one of the following questions: (4x1=4M)
(1)Discuss the main points of the poem “Geography Lesson”.

(Or)

(2)Do you think the title “The Best Christmas present in the World”
the story? Why?

is suitable for

......
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CLASS: vill DATE: 09-07-2024
SUBJECT: SCIENCE DURATION: 1 %h
MARKS:40
NOTE: All questions are compulsory
I CHOOSE THE CORRECT ANSWER 9x1=9M

1. If two plane mirrors are inclined at an angle of 90° to each other, how many images of an
object are seen?

a)1 b) 2 03

d) Any of 1, 2, 3 or 4 depending on the position of observer and object.

2. What is the nature of image formed on the retina of human eye of an object?

a) Virtual , diminished b) Virtual , magnified ¢) Real, diminished d) Rea!, magrified
From the figure given below, find the angle of incidence and angle of reflection

60
v

a) 30° b) 60° ) 45° d) 25°
4. |dentify the force responsible for raising our body hair when we try to take off a terylene o

polyester shirt in the dry weather.
(a) Magnetic Force (b) Electrostatic force (c) Gravitational force  (d) Friction Force

5. Two objects attract each other. The attraction could be due to

(a) frictional force only (b) electrostatic force only

(c) magnetic force only (d) both b and c.

6. If we apply force in the direction of motion of a body , then the body will

a. Stop moving b. move with decreased speed
¢. move with increased speed d. changes its shape and size

7. Which of the following statements is not true for manure?

(a) It enhances water holding capacity of soil

(b) It causes soil and water pollution.

(c) It provides humus to soil.

(d) It improves texture of soil.

8. Which of the following is a fertiliser?

a. Urea b. NPK c. superphosphate d. All the above.

9. The system of irrigation where water is sypplied drop by drop near the roots of plants, is caliec
(a) pulley system (b) drip systemy ~~ (c) sprinkler system (d) lever system



I ANSWER THE FOLLOWING Gu2=12r7

1. State the laws of reflection: write its §
2. Define weight of an object 2% ° ype
3 Find out the type of force acting Od whe ',((I" StyatiGns

2. Acoin or a pen falls to the groy” in n it shigs 0ut of your hand
b. A boat comes to rest if we stop 7 e

4. Give two reasons why is seed

grill 3dvantage,
“0Us Gver traditional 109
: jece 0
5 If you are given a dry piec
seeds?

f [and fOf c . ) ) )
Cltivation, what will you do before SOWIng ¢
6. Rearrange the given 3grC

a Harvesting
b Sowing
¢ Protection from weeds.

3 iroe *
ultural P* Ctices in the cornect séduesice

d lIrrigation.

it ANSWER THE FOLLOWING 5x3=15M
three important parts of our human eye and write any one funcdon.

1. Mention any
cts are moving ?

2 2. How can we perceive that obje

b. What is blind spot?
3. 2. How is the net force calculated when two or more forces are acting on 27 object?

p - what is the effect of force observed ?

b. An athelete takes a high jum
4 Veera wants to practice crop rotation in his field. Suggest two crops which he & use ¢

Which crop replenishes nitrogen and why?

cultivate.
weeding.

5 Describe the different methods of

CASE STUDY M

Read the passage given below and answer all questions. (Each carries 1 mark)

Light is a form of energy which induces sensation of vision to our eyes. [t becomes visibie when i
bounces off on surface and hits our eyes. Regular reflection takes place through a smoothed
polished surface. The mirror outside the driver side of vehicle is usually a spherical mirror anc
printed on such a mirror is usually a warning “vehicles in this mirror are closer than they appear.”
Multiple reflections are the multiple reflections of light back and forth between refiecting
surfaces. Multiple reflections occur when & reflocted light ray is reflected again after deing

incident on another surface.

1. Name two devices which are deSigm‘d by the ptlm‘mlr‘ mult_‘tme reflection.

2. Does diffused reflection obey laws of mﬂﬂ““‘“ Justi) yOuE answer

3. How many images are formed whey twe PR0E mittors are placed parallel to each other
separated by the distance 10cm?

4. Define the following.

a. Point of incidence . b. Normg| ray



LY,2024

CLASS: VIlI PT-1, ’UEMAﬂcs MARKS:40
DATE: 08-07-2024  SUBJECT: MATH TIME:1hrs30min
uestioy. .
Instruction: Answer all the 90 in the answer script onl

| .CHOOSE THE CORRECT ANSWER: 10x1=10M
1.Solution of 7x+9=30 s (D)3

(A)O (B)1 (C)2 on Wit
2. Number of sides of a regular polv8 ; %0°as each exterior angle is

(A) 4 (8)5 (C)6
3. For any rational number a, a0 od

(A) a (8)0 (C)notdefine (p) 4
4. Solution of = x = 168 is

: 126
(A) 106 @®)116  (C) (D) 136

5. The highest power of the variable 3PParing jp, . 1.
(A)0  (B)1 (C)2 (D)3

6. The maximum exterior angle possible for 3 regular polygon is
() 90 (8)120  (C)150 (D) 180

7. A quadrilateral with exactly two distinct Consecutjve
length is
(A) Trapezium (B) Rhombus () Kite (D) Square

8. Identify the quadrilateral in which diagonals are equal
(A)Rhombus  (B) Square (C) Parallelogram (D) Kite

9. For all rational numbers a, b, ¢,ax (=)= (ax b) - (a x ¢). The name of this
property is
(A)Associativity (B) Commutativity (C) Distributivity (D) Closure property

10. Which of the following satisfies the equation ;- 9=9?
(A)36 (B) 18 ()9 (D)2

€ar equation is

pairs of sides of equal

ll. FiLL IN THE BLANKS: 5%x1=5M
11. Aregular polygon of 3 sidesis

12. A'square is a rhombus in which one angle is aright angle [True/False]
13. Rational numbers are closed under division[True/False]

14. The additive identity for rational numbers is

152 +2=14

IIl. ANSWER THE FOLLOWING QUESTIONS: 4x2=8M

7x 17
16. Solve: ? - ? =2

. =3 5 49 g4
Findi— x = x = x =%
17 7 8 9 25

18.ABCD is a parallelogram with ¢B =77 °,Find the values of all other angles.



-operty used | .
19.Nan}‘”’° prop -3_-3 N €ach of the following:
o) =X

4

. 7 9\_3.7, 9
3 - - )=(=x = 9
(“)Ix(sx‘*) G a)x4

\Y; ANSWER THE FOLLOWING QUEST]() NS: 3x3=9M
,_,_5 )r_

3
20.Solve: =5~ = 5 and checkyouy rogy.

23 L3y
21 Find:ox ~ T3 ~ 7 X5 USIng properties

22, Find the measures of ZPand ¢S if sp is parallel to RQ in the following figure

V. ANSWER THE FOLLOWING QUESTIONS: 2x4=8M

73.Consider the following parallelogram and find the values of

the unknowns X, Y, Z.

y-1) -2

=1-———

24 Solve:y — (—2— 3
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Instructions 1. Answer all the quest! aly the Answer sheet only.
2. This paper contain$ 0 L Printed page.

- /\

. Choose the correct answer for the fO{IOW'ng! 5X% =2%
I. Which of the following is a group of related data organised into columns and rows in a
databasc?

a). File b). Row . ©). Table
2. Which networking device can convert the digita] gy, into analog signals and vice
versa?

a). Blue-ray b). Modem ~ ¢).LAN
3.A is a database object specially designed to display and or print the data
in a formatted way.,

a). Report b). Table ¢). Query
4. In Which topology, the central node a5 as a hub, switch or router to which all other
nodes are connected?

a). Star b). Bus ¢). Ring
5. Arccord is a collectionof
a). Files b). Folders c). Fields
I State true or false 4X =2

1. MS Excel is an example of Flat File Database.

2. MAN covers more distance than WAN,

3. A database minimises the duplication of data by integrating and sharing the data
files.

4. In Bus topology, all the nodes are connected to single common path.

II1. Fill in the blanks: SX¥%=2%
A ____isalso known as host computer.

The _ key is defined in order to show the uniqueness of data.

FTP stands for File Protocol.

The columns in a table represents

is a most popular wireless communication technology used for

S

homes etc.
IV. Answer the following: 5X1=5
1. Expand HTTP.
2. Tam 2 database object used to create a user interface to enter or update records in a
table. Who am 1?
3. What is internet?
4. Give two examples for Relationa) patabase system.
5. Mention any one type of betwork arehitecture.
IV. Answer the following: 4X2=8
Mention any two components required for @ network.
What is a Query?
Expand CAN.
Who proposed the relationg) database?

X

S W —
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